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1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.10.00.10.20.30.4

Fiber 2404, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.150.100.050.000.050.10

Fiber 922, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.0 0.1 0.2 0.3

Fiber 2967, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

3.54.04.55.05.56.06.57.07.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

3.54.04.55.05.56.06.57.07.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.150.100.050.000.050.100.15

Fiber 1035, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.300.250.200.150.100.050.000.050.10

Fiber 4383, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.20.10.00.10.20.3

Fiber 4375, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.251.501.752.002.252.502.753.00

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.251.501.752.002.252.502.75

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.150.100.050.000.050.100.15

Fiber 2704, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

0.51.01.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.20.10.00.10.20.30.4

Fiber 4368, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

3.5 4.0 4.5 5.0 5.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

3.54.04.55.05.56.06.57.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

2.0 1.5 1.0 0.50.0

Fiber 960, dchi2frac= 0.9



5 0 5
5.0

2.5

0.0

2.5

5.0
data

0.60.81.01.21.41.61.8

5 0 5
5.0

2.5

0.0

2.5

5.0
model

0.60.81.01.21.41.61.82.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.0750.0500.0250.0000.0250.0500.0750.100

Fiber 1287, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.20.10.00.10.20.3

Fiber 4169, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2.02.53.03.54.04.55.05.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.3 0.2 0.10.0 0.1 0.2

Fiber 678, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.200.150.100.050.000.05

Fiber 739, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.5 2.0 2.5 3.0 3.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.20.10.00.10.20.30.40.5

Fiber 1081, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 4 6 8

5 0 5
5.0

2.5

0.0

2.5

5.0
model

3.54.04.55.05.56.06.57.07.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

6 4 2 0 2

Fiber 1272, dchi2frac= 0.9, EXCLUDED



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.30.20.10.00.10.2

Fiber 2806, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.20.10.00.10.20.30.40.5

Fiber 2061, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.001.251.501.752.002.252.502.75

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.001.251.501.752.002.252.502.75

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.200.150.100.050.000.050.100.150.20

Fiber 4255, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

3 4 5 6 7

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5 6 7

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.30.20.10.00.10.20.3

Fiber 853, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 3 4 5 6 7

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.30.20.10.00.10.20.3

Fiber 684, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.10.00.10.20.30.4

Fiber 2238, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.150.100.050.000.05

Fiber 2636, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2.0 2.5 3.0 3.5 4.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.50.40.30.20.10.00.1

Fiber 935, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.1 0.0 0.1 0.2

Fiber 2147, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.5 2.0 2.5 3.0 3.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.10.00.10.20.30.40.5

Fiber 650, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2.02.53.03.54.04.55.05.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2.02.53.03.54.04.55.05.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.0500.0250.0000.0250.0500.0750.100

Fiber 842, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

10.2510.5010.7511.0011.2511.5011.7512.0012.25

5 0 5
5.0

2.5

0.0

2.5

5.0
model

10.2510.5010.7511.0011.2511.5011.7512.0012.25

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

3.23.13.02.92.82.7
1e 8

Fiber 4348, dchi2frac= nan



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.100.050.000.050.100.150.200.25

Fiber 4038, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.50.40.30.20.10.00.1

Fiber 2754, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5 6 7

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.20.0 0.2 0.4 0.6

Fiber 2728, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.4 0.3 0.2 0.10.0

Fiber 2544, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.001.251.501.752.002.252.502.75

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.001.251.501.752.002.252.502.753.00

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.300.250.200.150.100.050.000.05

Fiber 915, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 3 4 5 6 7

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5 6 7 8

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

1.21.00.80.60.40.20.0

Fiber 1216, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.501.752.002.252.502.753.003.25

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.501.752.002.252.502.753.003.25

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.50.40.30.20.10.00.10.2

Fiber 1338, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.55.05.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.10.00.10.20.30.40.5

Fiber 2173, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.2 0.10.0 0.1 0.2 0.3

Fiber 1438, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.20.10.00.10.20.30.40.5

Fiber 1257, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.20.10.00.10.20.30.40.50.6

Fiber 952, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 3 4 5 6 7

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.00.10.20.30.4

Fiber 2821, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.250.200.150.100.050.000.05

Fiber 2524, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5 6 7

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.300.250.200.150.100.050.000.050.10

Fiber 2501, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2.53.03.54.04.55.05.56.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2.53.03.54.04.55.05.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.10.00.10.20.30.40.50.60.7

Fiber 580, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.150.100.050.000.05

Fiber 2330, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.5 2.0 2.5 3.0 3.5 4.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.000.050.100.150.20

Fiber 762, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.54.04.55.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.10.00.10.20.30.4

Fiber 4282, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.50.40.30.20.10.00.1

Fiber 1095, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.01.52.02.53.03.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.01.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.8 0.6 0.4 0.20.0

Fiber 1169, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.4 0.3 0.2 0.10.0 0.1

Fiber 934, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.52.02.53.03.54.04.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.150.100.050.000.050.100.15

Fiber 2747, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

0.51.01.52.02.53.03.54.0

5 0 5
5.0

2.5

0.0

2.5

5.0
model

0.51.01.52.02.53.03.5

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.40.30.20.10.00.10.20.3

Fiber 2556, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

1 2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.100.050.000.050.10

Fiber 4296, dchi2frac= 1.0



5 0 5
5.0

2.5
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